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[ PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), {3), or (4) that best completes the blank. Then
mark the correct choice on your answer sheet.

Lawvers for both parties will convene this morning to see if a -——---- can be reached
before the matter reaches the court.

1} transparency 2) realism

3) settlement 4y discipline

Later he --—-—- — her daughter for having talked to her teacher impolitely.

1) prevented 2) scolded

3) restricted 4) neglected

The velcano had remained -——----- for over a hundred years, and most people thought it
would never burst again,

1} dormant 2) drastic

3) severe 4) incidental

You will certainly -—--—-- your sprained ankle if you attempt to play basketball today.

1) coerce 2) avoid

3) discomfit 4) exacerbate

My medical condition is —---—- and cannot be altered even with medication.

1) immutable 2) exhaustible

1) durable 4) demanding

The comedian hoped his jokes would —------- a great deal of laughter from the audience.
1) pursue 2) explode

3) necessitate 4) elicat

Because Kelly's parents were not affectionate, she grew up suffering from a/an ---——-
of love and affection.

1} 1solation 2) malfunction

3) violation 4) deprivation

Although we may never completely —-—-— every disease on earth, it’s heartening to see
the progress medicine has made ou so many fronts,

1) overlook 2) eradicate

3) suspend 4) forecast

As people mature, their --—--—- skills become more developed, so they are capable of
solving more complex problems.

1} collective 2) sufticient

3) cognitive 4) hypothetical

I wonder why Cathy spends so much time telling me --——-- facts that have nothing to
do with me.

1} curious 2) identical

3) irrelevant 4) unequivocal
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PART B: Cloze Passage

Directions: Read the following passage and decide which choice (1}, (2), (3), or (4) best fiis
each space. Then mark the correct choice on your answer sheet.

11-
12-
13-
14-
15-

The job of theoretical physicists 15 twofold: first, to explain what our experimental
colleagues have discovered; and second, (11) -----—-- phenomena that have not yet
(12) =mmmemeee . The history of scientific discovery shows that progress is achieved using
(13) —=mmmmmm- 1

Quantum theory, for example, was largely driven by empirical results, (14) --=--a-—-
Einstein’s general theory of relativity was (15) -=——— speculation and thought
experiments, as well as advanced mathematics.

1) to predict 2) predicting 3) it is to predict 4) predict

1) found 2) to be found 3) been found 4) be found

1) both the methods 2) both methods 3) both of methods  4) methods both
1) as though 2} in that 3) so that 4) whereas

1) a product of 2) produced 3) production of 4) producing

PART C: Reading Comprehension

Directions: Read the following passages and answer the gquestions by choosing the best
cheice (1), (2). (3). or (4). Then mark the correct choice on your answer sheet.

16-

17-

18-

PASSAGE 1:

One of the unknown factors with tax cuts is what consumers will do with the extra
income thereby made available to them: Such cuts are usually made with the aim of
stimulating a flagging economy. but the effects on growth tend to be negligible if
consumers, instead of going on a spending spree buying durable goods such as home
appliances, decide either to pay off their accumulated debts or hold on to the extra cash
in the form of savings. And the {act 1s that usually when a tax cut 15 implemented,
company investment tends to be running at a low ebb, and only the consumer has the
necessary means, that 1s, money to provide a fresh impetus.

Tax cuts automatically provide more money for ——-—-----cee-

1) banks and creditors 2) companies

3) consumers 4) home appliance manufactures
It can be inferrved from the passage that the effects of a tax cut are ——--——-- .
1} costly 2) durable

3) reinforcing 4) unpredictable

It may be inferred from the passage that a government which reduces taxes usually
Wants CONSUMErs to ——--—-—----- "

1) pay off their debts

2} save their extra money

3) buy things like refrigerators

4) invest their extra cash in things like gold
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19-

20-

21-

22-

Under what circumstances are tax cuts generally introduced?
1) When the economy needs a boost.
2) When consumers are on a spending spree.
3) When no significant growth is sought.
4) When company investment is providing a fresh impetus,
The passage implies that ———-———,
1) if consumers are neglected, they go on bhoppmg sprees
2) tax cuts are always resorted to if economic growth falls below a certain point
3) consumer spending may negatively affect the level of company investment
4) when there is a tax cut. consumers do not know whether they will have extra
meome

PASSAGE 2:

Planning in a variety of forms is frequently advocated as an alternative to the market
mechanisms and the use of market prices, for the allocation of resources in less
developed countries. Reliance on the market mechanism and market prices for
resource allocation is attacked for several reasons. Firstly given the natural preference
of people for present rather than future satisfaction, resouices in a free market will
tend to be allocated for the production of goods for immediate consumption rather than
for building up the means of production, 1e. for the production of capital goods. Lelt
to itself, the operation of the markets is likely to lead to a much slower pace of
development and a much lower level of future weltare than if resources, via some form
of interference with the market mechanism, can be diverted to the production of capital
goods. Secondly, as we have already seen. market prices may provide a very imperfect
ouide to the social optimum allocation of resources because they do not reflect the
opportunity cost or value to society of the use of factors of production or the
production of certain commeodities. A perpetual shortage of capital and foreign
exchange. and a surplus of labour, at existing market prices is prime facie evidence of
structural disequilibrium and a very imperfect market system which may not operate to
the benefit of society at large. Thirdly, because of externalities many projects that less
developed countries need, and which would be profitable to society, may not appear
profitable under a pure market system in which all investment decisions are left to
private individuals.

In a well-functioning economic system -—--—-——-—-——- ’

1) individual piojects are disregarded

2) external economies are not of much concern

3) people are interested in their immediate needs

4) resources should be allocated for the production of capital goods
The market mechanism by itsell -,

1) gives priority to what society needs in the long term

2) cannot produce the required changes for development

3) regulates markets very efficiently

4) helps coordinate investment programs
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23-

24-

25-

2o-

27-

28-

The author explains that
1) planning is an alternative to the market mechanisms
2) people’s welfare is created by themselves

3} planning is a tool used by social democrats

4) resources are not limited in developed countries

A suitable title for this passage could be —---———- -
1} Shortage of Capital

2) Free Market and Investment

3) Disadvantages of Market Mechanism

4) Arguments Against Economic Planning

The word “optimum™ in line 12 can be subsituted by -—---- ——,
1} extraordinary 2) ideal

3) necessary 4) strict

PASSAGE 3:

The International Bank for Reconstruction and Development (IERD) known as the
International Bank or as the World Bank, is an agency of the United Nations
established in 1945, It has the primary function of making loans available to assist
developing countries. Loans are mostly made to finance specific projects of investment
in underdeveloped countries; and the Bank will normally make a loan only if it is
satisfied that the investment will vield a revenue sufficient to enable the payment of
interest on the loan, and the repayment of the sum lent. In 1983 the Bank made loans
to the value of $3.300 million. Thus a sizeable amount of lending is channelled
through the Bank, but it 15 clear that some projects of great value to underdeveloped
countries cannot be financed in this way, because they would not vield returns quickly
enough or large enough to meet the Bank's requirements for interest and repayment.

According to the passage, the World Bank was founded in order to -—————

1) bring all developing countries up to the same level of economic prosper |ty

2) let underdeveloped countries have access to the capital they need to fund their
projects

3) make loans avaiable to those countries not receiving support from the developed
counfries

4) give loans to all the countries in the world on an equal basis. regardless of their
economic position

The World Bank will usually not provide loans for investment projects in developing

countries unless ———------- -

1)1t 15 certain that the money lent will be returned in full and with interest

2) these projects are indeed of vital importance for the industrialization of these
countries

3) these countries are prepared to pay sizeable interest rate on the money lent

4) these countries are in a position to finance a good part of their projects

The word *it™ in line 5 refers to --—----- -,

1) payment 2) investment

3) loan 4) the Bank
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29-  The word “revenue™ in line 6 can be substituted by ----—-——--,
1) affection 2} coordination
3) mortgage 4) income

30- It is mentioned in the passage that the ——-—-- -
1) IBRD was established in the first half of the 20" century
2) IBRD was introduced by the United Nations in the 19 century
3) the United Nations has a lot of agencies of which IBRD is the most important

4) the United Nations has invested in its agencies to help all the countries in the world
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